# **CenLANA ASC Meeting**

# Central Louisiana Area of Narcotics Anonymous Area Service Meeting

# Meeting convened at 12:25 pm on 6-21-2025

Erica C. opened the meeting with a moment of silence followed by the Serenity Prayer. Pam read the 12 Traditions and Doug read the 12 Concepts.

#### **Administrative Service Committee**

Chairperson- Erica Present
Vice Chair- Lori S Present
Treasurer- Ashley CW Absent
Secretary- Daniella P. Present
ASR- Pam Present
ASRA- Vacant Absent

#### **Subcommittees**

H & I- Robbie L.

PR- Robbie L.

Literature- Doug/Karen

Policy- Karen F.

Activities - Dani P

Present

Present

Present

Present

### **Group Service Representatives**

Group		Voting	Host
Clean & Serene	Daniella	Yes	July
No Matter What	Davis H	Yes	Aug
Talking Heads	Doug F.	Yes	Sept
New Life Group	John P . (robert)	No	Oct
Keepin it real	John P.	Yes	Nov

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve the report. (Accepted with corrections noted).

Treasurer's Report: Read by (Ashley)

Monthly Deposits:

\$102.13

Bank Balance:

\$1241.18

**Previous Balance** 

\$1066.18

Checks Outstanding: \$+175.00

Other

\$ -

Available Balance:

\$1241.18 to match bank balance

Available Balance:

\$1066.18 actual avail bal minus checks

Money Set Aside:

\$710.00-

Working Balance:

\$356.18

ASR Report: Read by Doug F. (emailed)

Subcommittee Reports:

H & I:

Robbie

read the report

(report attached)

Public Relations: Robbie

read the report

(report attached)

Literature:

Karen/Doug

read the report

(report attached)

Policy:

Karen

abs w/ report

(report attached)

Activities:

Dani

read the report

(report attached)

**GSR Reports**:

Clean & Serene:

Daniella.

read the report

(report attached)

No Matter What:

Davis H.

read the report

(report attached)

Talking Heads:

Doug F

read the report

(report attached)

New Life:

John P abs w/ report (read by robbie) (report not attached)

Keep It Real:

John P

read the report

(no report attached)

**Old Business: No Old business** 

New Business: Dani received activities budget of \$250.00, Pam received \$200.00 for travel cost for Region.

Elections: Nominated Lori for VC, ASRA still vacant

Announcements: July 4th event (flyer attached), Davis July 10 (1Yr)

Lori Aug 7 (2Yr)

Next Area: 7/19//2025 Hosted By: Clean & Serene

### **Final Treasurer's Report:**

Presented & read by: Ashley CW

Previous Balance: \$1066.18
Donations/Other: \$60.00
Checks Written: \$-475.00
Available Balance: \$651.18
Money Set Aside: \$710.00-

Working Balance: \$58.82

20% to RSC: \$
Working Balance: \$58.82

Available Balance: \$ 651.18

Motion made to accept the final Treasurer's Report. All in favor. Motion to close, all in favor The meeting adjourned at 1:25 pm.

# **Central Area**

<u>Treasurer's Report</u>		06/21/2025
Monthly Deposit	\$102.13	06-20-25
Current Bank Balance	\$1,241.18	06-20-25
Previous Available Ending Balance	\$1,066.18	05-17-25
Outstanding Checks:		
Outstanding checks total	\$175.00	
Avail Balance	\$1,241.18	06-20-25
Subtract outstanding checks	\$175.00-	
Actual Available Balance:	\$1,066.18	06-20-25
Money Set Aside:		
Prudent Reserve	\$150.00-	
Activities	\$250.00-	
H&I	\$50.00-	
P.R.	\$30.00-	
Secretary	\$30.00~	
RSC Travel	\$200.00-	
Total Money Set Aside	\$710.00-	
Total Working Balance	\$356.18	06-20-25



# SMALL BUSINESS-8354 8354

Last Updated: June 20, 2025 2:00 PM

\$1,139.05 \$1,241.18
Current Balance Available Balance

Transactions Details & Settings

Q Search transactions

Dat	re	Description	Amount	
Pending	Deposit Transaction		<b>\$102.13</b> \$1,241.18	:
MAY 9 2025	■ DEBIT MEMO		<b>(\$685.00)</b> \$1,139.05	:
MAY 9 2025	■ DEPOSIT		<b>\$350.50</b> \$1,824.05	:
APR 28 2025	□ CHECK - 1080		<b>(\$45.47)</b> \$1,473.55	:
APR 11 2025	□ DEPOSIT		<b>\$685.00</b> \$1,519.02	:
MAR 20 2025	□ CHECK - 1082		(\$100.00) \$834.02	:



# (no subject)

1 message

**Douglas Fearon** <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Sun, Jun 15, 2025 at 7:20 PM

ASR REPORT Doug F

My name is Doug and I'm an addict. Nothing has changed from the last report from last area. Next region will be in Lake Charles the second weekend of July. The convention is the last weekend in May, memorial weekend. Never got the minutes from region but they will be available soon. The next convention will be in New Orleans next year. Registration for this convention is available now. Thanks for letting me serve this past year.

Thanks, Doug **H&I June Report** 

H&I has put IP racks in the treatment centers for the clients.

We had no issues this month

we have a couple meetings that would like to use IPs.

Thanks for letting me serve, Robbie L.

PR Report June 2025

PR still has signs to put up. I will be updating the website with minutes for Area & Region.

Please let me know if PR can do anything to help you carry the message

thanks for letting me serve Robbie. L



## **REPOR**

1 message

**Douglas Fearon** <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Sat, Jun 21, 2025 at 9:04 AM

LITERATURE REPORT JUNE 21, 2025 DOUG F

My name is Doug and I'm an addict. We been selling a little literature not much. Saved on shipping cost on the last order when I picked it up at the convention. I'm submitting a spreadsheet to this report to put in the minutes. You all buy from this committee and save shipping cost.

MORE WILL BE REVEALED, DOUG F

			Ir	rvoice		
Date Totaled:						
Item	Quantity	Cost		Total Cost	Person/Group Sold To	Date
Basic Text	6	\$ 16.00	\$	32.00	George	Date
Spiritual Principle of the Day	2	\$ 15.00	Ť	04.00	Cooligo	
Guiding Principles	3	\$ 15.00	$\vdash$			
Living Clean	2	\$ 14.00	$\vdash$			
It Works How & Why	3	\$ 13.00				
Just For Today Meditation	2	\$ 13.00	\$	13.00	Karen	
Step Working Guide	5	\$ 12.00	\$	24.00	1100.011	
NA White Book	24	\$ 1.00				
Totals:			Ŀ			
Tag / Medallion / Chip						
Tags						
White	31	\$ 0.75	\$	3.00		
30Day	30	\$ 0.75	_			
60Day	26	0.75	\$	1.50		
90Day	27	\$ 0.75	\$	3.00		
6Months	28	\$ 0.75				
9Months	22	\$ 0.75				
1Year	28	\$ 0.75	\$	2.25		
18Months	20	\$ 0.75	_			
Muliple Years	30	\$ 0.75	\$	1.50		
Chips						
White	15	\$ 0.60				
Orange	5	0.60			1 1 1	
Black	15	\$ 0.60				
M. J. W						
Medallion		\$ 6.00				
1 year	2	 				
2 year	1	 				
3 year	1					
4 year	1					
5 year	0					
6 year	0					
7 year	1					
8 уеаг	0					
9 year	1					
10 years	1					
15 years	2		-27			
39 years	0					
Grand Total: literature Order	323		\$	<b>\$56.00</b> 118.80		

Date: 6/04/05												
Date: 6/21/25	-											
Item	Quantity	Cost		Cos	t Total	Sale	Price	Sal	les Total	Cash		
Basic Text	4	\$	13.60	\$	54.40	\$	16.00	\$	64.00		<del> </del>	
Spiritual Principle of the Day	2	\$	13.00	\$	26.00	\$	15.00	\$	30.00	Money from Area		
Guiding Principles	3	\$	13.05	\$	39.15	\$	15.00	\$	45.00			
It Works How & Why	0 [1]	\$	10.70	\$		\$	13.00	\$	-	Literature Sold		
Living Clean	1	\$	11.60	\$	11.60	\$	14.00	\$	14.00		\$	75.75
Just for Today Meditaton	1	\$	10.70	\$	10.70	\$	13.00	\$	13.00	Previous Orders	\$	187.25
Step Working Guide	5	\$	10.10	\$	50.50	\$	12.00	\$	60.00			
White booklets	24	\$	0.80			\$	1.00			Current Orders	\$	-
Totals:				\$	192.35			\$	226.00	Donations		
										Cash Turning In	\$	_
Tag / Medallion / Chip										Cash on Hand	\$	79.30
Tags												
White	25	\$	0.56	\$	14.00	\$	0.75	\$	18.75			
30Day	28	\$	0.56	\$	15.68	\$	0.75	\$	21.00			
60Day	19	\$	0.56	\$	10.64	\$	0.75	\$	14.25			
90Day	21	\$	0.56	\$	11.76	\$	0.75	\$	15.75			
6Months	28	\$	0.56	\$	15.68	\$	0.75	\$	21.00			
9Months	22	\$	0.56	\$	12.32	\$	0.75	\$	16.50			
1Year	28	\$	0.56	\$	15.68	\$	0.75	\$	21.00			
18Months	20	\$	0.56	\$	11.20	\$	0.75	\$	15.00			
2+ Years B&G	28	\$	0.56	\$	95.76	\$	0.75		#REF!			
Chips												
White/ just for today chip	15	\$	0.40	\$	6.00	\$	0.60	\$	9.00			
30 Day Chip	5	\$	0.40	\$	2.00	\$	0.60	\$	3.00			
Multiple year chip	15	\$	0.40	\$	6.00	\$	0.60	\$	9.00			
Medallions	7	\$	3.80	\$	-	\$	6.00	\$	-			
Totals:				\$	216.72				#REF!			
Sub Totals:				\$	409.07			1	#REF!			

Orders	& F	Requ	uest
--------	-----	------	------

Basic text 30 day keytags 3 year medallion 1 year medallion Literature purchased Basic text Donation Step working guide	1 20 1 1	\$16.00 \$0.75	\$16.00	
3 year medallion 1 year medallion Literature purchased Basic text Donation	1	\$0.75	\$16.00	
1 year medallion Literature purchased Basic text Donation			\$15.00	
Literature purchased Basic text Donation	1		\$6.00	
Basic text Donation		\$6.00	\$6.00	
Donation			\$64.90	
	1	\$16.00	\$16.00	
Step working guide			\$0.10	
	2	\$12.00	\$24.00	
Multiple year key tag	10	\$0.75	\$7.50	
Basic text	3	\$16.00	\$48.00	
White key tag	4	\$0.75	\$3.00	
30 day key tag	4	\$0.75	\$3.00	
60 day key tag	4	\$0.75	\$3.00	
90 day key tag	4	\$0.75	\$3.00	
Just for today keytags	5	\$0.75	\$3.75	
30 day keytags	4	\$0.75	\$3.00	
60 day keytags	5	\$0.75	\$3.75	
90 day keytags	4	\$0.75	\$3.00	
6 months keytags	4	\$0.75	\$3.00	
9 month keytags	3	\$0.75	\$2.25	
1 year keytags	3	\$0.75	\$2.25	
18 months keytags	2	\$0.75	\$1.50	
Multiple year keytags	3	\$0.75	\$2.25	
White booklets	6	\$1.00	\$6.00	
Donation			\$0.60	
It works how and why	1	\$13.00	\$13.00	
Step working guide	1	12	12	
white booklets	20	\$16.00		
6 months key tags	15	\$8.40		
60 days	15	\$8.40		
30 days	30	\$16.80		
white welcome	15	\$8.40		
	4	01.01.9		
	90 day key tag  Just for today keytags 30 day keytags 60 day keytags 90 day keytags 6 months keytags 9 month keytags 1 year keytags 18 months keytags Multiple year keytags White booklets Donation It works how and why Step working guide white booklets 6 months key tags 60 days 30 days white welcome	90 day key tag 4  Just for today keytags 5  30 day keytags 4  60 day keytags 5  90 day keytags 4  6 months keytags 4  9 month keytags 3  1 year keytags 3  18 months keytags 2  Multiple year keytags 3  White booklets 6  Donation 1t works how and why 1  Step working guide 1  white booklets 20  6 months key tags 15  60 days 15  30 days 30  white welcome 15	90 day key tag 4 \$0.75     Just for today keytags 5 \$0.75     30 day keytags 4 \$0.75     60 day keytags 5 \$0.75     90 day keytags 4 \$0.75     6 months keytags 4 \$0.75     9 month keytags 3 \$0.75     1 year keytags 3 \$0.75     18 months keytags 2 \$0.75     Multiple year keytags 3 \$0.75     White booklets 6 \$1.00     Donation	90 day key tag

Policy June Area

There are no updates to the Policy at this time.

Thank you for letting me serve,

Karen F Policy

# Activities 10-21-25 subcométtee + Arra

Hello family,

We discussed a 4th of July event last Subcornitive so I made a theor for everyone to approve it everyone is okas with it I will print mare + put have at elubrouse, I'd like to get 250, + talk amongst us here to see when I should get the money or buy things. Would like to confirm the food onlice. In excited to see how it turns out thank yall for your nel p + allowing me to serve.

Dani P. Activities mair

# Clan & Serene

U.21.25 Area Report

Hello Samily. Clean & Serene 18 dorney good. We have meltings every Sunday night at 7pm horse at River City Chychause. We average and 15-2 tendes per meeting. We have no new members, no celebrations coming up. He hade a \$2000 area donation, but wasn't given the obey 10. So we have \$10000 Area Donation tolay.

Thank you for allowing me to serve,

Dari P.



# No matter what June 2025

2 messages

**Dav** <dav506897@gmail.com> To: pdaniella100@gmail.com

Sat, Jun 21, 2025 at 1:05 PM

# NO MATTER WHAT

We have average attendance of 12 people. No Matter What is still meeting on Thursday nights @ 7, here at River City. We were able to make our rent. We have no area donation at this time.

We have one birthday celebrating on July 10th

Davis H - 1 Year

Please come help us celebrate the clean time achieved by these members. We will have cupcakes.

We have no group conscience on new/old business due to minutes not being complete.

Thanks for letting me serve, Davis H/ gsra

Dav <dav506897@gmail.com>
To: pdaniella100@gmail.com

Tue, Jul 15, 2025 at 9:53 AM





# Report

1 message

**Douglas Fearon** <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Fri, Jun 20, 2025 at 9:44 PM

TALKING HEADS REPORT JUNE 21, 2025 DOUG F

My name is Doug and I'm an addict. We still have two meetings a week, Tuesday book study and Fridays open discussion both at 700 pm at RiverCity. We have a donation of thirty dollars.

More will be revealed, Doug F

